1%
0, N 256 = 2° > hinary (00000000 |
= 10

> F F
Chacy (+12 41 ¢+]-4=1S
&) xARA = 10 310416 +l0-\l§"':10(2§6ﬂ(7>
256 = 2730

@  Se=229+6 [ =56-202%
—
2¢ = Y- 6 +(| 1= 25— = 25 - t(56-225)

«a,cdffé,Zﬂ =-€-S6+4-2¢
56 }ZYWQY—PM\MC Re 2ot

@  aza meim o :-31 a-a'=m-4
bz b wd m => ;]cl/ L)"L)":‘MC\,
G]D fo\,,lo/-? G\l’) —ﬁblﬂ-ak’—a/é)

e a(b=b)+Ca-e ) 2 amg + g b’
T m (acl("’"t)’> a‘oza/l)’pnoocm Z



@ K E Iwmed Note: medmli §,’7)l\

UIw = S'.Mo.,\7 are lomirwig_e Cofrm'me.
2% = Fueg \\
U2 S mod S¥« = 2S mod/
/ x & Y wod )
A(.‘k'l ;/ §W-917 [/éww47 \_/-
4%'37(; l(.> mDJ\l
3 = LP wod k\ w z g ‘“OJ\\
e Temn < =3 medS p % zEwod
New Hpplom e 4’1‘“4/7 - ({W,J(l
= glﬂ\oa‘ [\
m=G.7-ll = 3¢S

W[ \ M:ﬂ- ‘a“N\;l:Mod ™ | a. \ Mi‘ai_(‘ti

1 ML

oo o)L

S_ \77 :—2m01§ 3 (3'2_::5_4-/) éqggzog hodggs_

3
> Sl 6 (6625041 & | 220 F6S wed BT
N | 2SS 0mal ¢ 62=11+1)| S | 10505280 wed 335

\\

60 mo JZ&S

!

gum B 268 h'dﬁ‘j




@ n <n “GW n> |

Bagis: n=2 2l ¢ 2° (L
— <
L n duncive 5+¢{J: bi"h)l%
n- | .
nl =y (V\—\\\ < n-M) K n.nw'l -n O

@ L(on=3 Ly = - 2- Lm0 dor N> |

ﬁn Fen Ragis: n=o L) = 3(-2)=3

0| 3 _ o
L] 2D = ¢ Tadochive Shp: @zl
2 2(—2')(’13: VA ﬁ(n\= -2 f((w—l)

_ _ . - n—-1\ n
s 3(-2)(-2)(2) = - 2% = -2-2(-2) :2(-2)
n 3(—27..,(—23 = 3 ("z)w <

- ———

“



